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9� 3OHDVH�ZLSH�GRZQ�DOO�FRXQWHU�WRSV�LQ�WKH�NLWFKHQ�DQG�EDU�DUHD��
9�3OHDVH�EULQJ�HQRXJK�WUDVK�EDJV WR�GLVSRVH�DOO�RI�\RXU�HYHQW¶V�

JDUEDJH��
9�0DNH�VXUH�DOO�WUDVK�FDQV�LQ�FOXEKRXVH�DUH�HPSWLHG�EHIRUH�OHDYLQJ��
9�3OHDVH�HPSW\�DOO�FRQWDLQHUV��EHHU�FDQV��VRIW�GULQNV��ERWWOHG�ZDWHU�

DQG�ERWWOHV��EHIRUH�GLVSRVLQJ�WKHP�LQWR�WKH�JDUEDJH��
9�$OO�WUDVK�EDJV�VKRXOG�EH�WLHG�ZLWK�QR�WUDVK�KDQJLQJ�RXW��
9�3OHDVH�VZHHS�DQG�PRS�DOO�IORRUV��0RS�DQG�EXFNHW�DUH

SURYLGHG�LQ FORVHW��
9�3OHDVH�FOHDQ�DOO�FRQWHQWV�RXW�RI�UHIULJHUDWRU�DQG�VWRYH��
9�'R�QRW�XVH�WKH�JDUEDJH�GLVSRVDO�LQ�VLQN�
9�0DNH�VXUH�DOO�WRLOHWV�FDQ�IOXVK�EHIRUH�OHDYLQJ�WKH�FOXEKRXVH�
9�0DNH�VXUH�DOO�WDEOHV�DQG�FKDLUV�DUH�SODFHG�EDFN�ZKHUH�\RX�IRXQG

WKHP��
9�3OHDVH�PDNH�VXUH�SDUNLQJ�DUHD�LV�FOHDQ��PD\�KDYH�WR�FRPH�LQ�WKH

QH[W�PRUQLQJ�WR�FOHDQ�SDUNLQJ�ORW���
9�6HW�WUDVK�EDJV�LQ�JDUEDJH�FRQWDLQHUV ORFDWHG�LQ�WKH�UHDU�RI�

WKH�SRRO�KRXVH�IDFLQJ WKH�WHQQLV�FRXUWV�
9 3OHDVH�HQVXUH DOO�GRRUV�DUH�ORFNHG�EHIRUH�ILQDO�GHSDUWXUH�


